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tga - ctga =1




sin“a 4+ cos?a=1 (1)
sina + cos? o 1 sin®a + cos? o 1
C0S2  cos2q sin‘a ~ sinZa
2 1 2 1
1+tgea = 1+ ctgea =

COS% sin?a



sin‘a + cos?a=1 (1)
1

COS?
1
¥ I winlo = 3)
TR sin?a
Sin & CoS &
tga = 4 ctga = — (5)
cosix SIina

tga-ctga=1

1+ tgza = (2)
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l.sin2c =28 -cosc
2.CO0S2x =COS”™ X —SIn~ X

2tgcx

Siielor= -
. |-tg «x

4.sin3c =3sinx —4sin’
= 3
5.cos3x=4cos” x—3cos
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l.sin(ex + ) =sinex - cos ff+cosa - sin [3
2.sm(ex— ) =sina-cos ff—cosa-sin [
3.cos(x + [f) =cosa-cos f—sine-sin [

4.cos(ax — [) =cosa-cos f+sina-sin 3
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194 | + cos «&
2.co08 —= ¢
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3 .1g = x

]l + cos «&
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Sin a +sin = 2sm g

2.sin @ —sin = 2sin a-p cosa:ﬂ
3.cosa+cos,[3=2c:osa:ﬂcos0";/3
4.cosa—cos,[3=—231natﬂsma;ﬂ

sm( @ x )
COS & - cos f#
sin( [ )
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sin(a + ) +sin(a — )
2
cos(a — B)—cos(a + )
2
cos(a — )+ cos(a + )
2

l.sina-cosff=

2sina-smf=

3.cosa-cosf =

il



